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PROGRESSONS IN VARIOUS FIELDS OF SCIENCE AND PRACTICAL LIFE 
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 1 + 2 + 22 +.. + 263,  18446744073709551615. ,

 1  40000 ,  230 584 
300 921 369 . ,  S64=264-
1=18446744073709551615 : 18  446  744  73 
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–  2; 4; 6; 8;… -
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 2.

 – . -
 1; 3; 5; 7;.. 

.
. « …»,  2; 4; 6; 8;…

.« , » . . , « » . .
,  1; 3; 5;7;

 1:  5 , -
 10 . ,

 5 . .
:

1= 5, d =10. 5 = 1+4d; 5 = 45. 
S5 = (a1+a5) ·n : 2; 
S5 = (5+45) 5:2=125;

 125 .
: 125 .
 2: , -

 153 .  10 , -
 3  5- , -
, ?

:
 n  Sn = (2a1+d(n-1))·n:2 = (2·3+5 ·(n-1))·n:2 = = (1+5n)·n:2 

( ),  - 10n , ((1+5n)·n:2+ 10n)  – 
,  153 . (1+5n)·n:2+ 10n=153. n=6, n=-10,2.  n>0, 

n=6. ,  6 .
:6 .
 3: ,  16,1 

,  32,2 , .
,  5 ,

 724,5 ?
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St+5-St=724,5;
16,1(t+5)2-16,1t2=724,5; t=2. 

 724,5  2 .
: 2 .

 1:  15 
 10 . -

, -
 1  45 ?

:
1=15, d=10, n=105 .
n = 1 + d(n - 1). 
n = 15 + d(n – 1) n = 15 + 10n – 10. 

10n = 100. 
n=10

: 10 .
 2: : -

 5 ,  —  5 , . -
 40 ,  3  40 ,

5 ,  5 . ,
 20  (  250 )?

: :
5, 10, 15,…,40, 40, 40, 35, 30,…,5

1=5, d=5 1=5, d=-5 
n= 1+d(n-1),  

40 = 5+5(n-1),
n = 8,
Sn = ((a1+an)n)/2, S8 = (5+40) 8:2 = 180, 180 

.  180+40+180 = 400( ),
 400:250=1,6 ( ). ,  2 .

: 2 .

 1: ,
 40 ,  15- ,

. ,  16 . 90 .?
:

a1 = 40, d = 15, Sn=1690.  n.
Sn=(2a1+d(n-1))·n:2; n>0; 
1690=(80+15(n-1))·n:2; 
1690=(80+15(n-1))·n:2; 
3380 = (65+15n)·n; 
15n2+65n-3380 = 0; 
3n2+13n-676 = 0; 
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n1=-52/3; n2 = 13. 
 n>0,  n=13.  13 

.
:13 .
 2: , -

. ,  12 ?

:
1, 2, 3, 4,…,12. , 1=1, d=1, n=12. n.

n= a1+d(n-1); 12=1+1(n-1); n=12. 
Sn=(a1+an)·n:2; Sn=(1+12)·12:2; Sn=78.  78 .

:78 .

 1:  880 .,  40% ( )
. ?

:
a4 = 880 a4 = a3 + 3d, d = a1

.p/100 = a1
.40/100 = 0,4a1

p = 40% 880 = a1 + 1,2a1
n=3  880 = 2,2a1
a1 - ?  a1 = 400 

:  400 .
 2:  1000 .  20% ( ),

1440 .?
:

b1 = 1000 bn+1 = b1
.qn, q = 1 + p/100 = (1 + 0,2) = 1,2 

p = 20  1440 = 1000.1,2n

bn+1 = 1440 1,44 = 1,2n

n = 2 
:  2 .
: . -

, ,
 1000 . -

,  40%. 
:

. -
 40% , , . . , :

1000 +1000 • 2/5 = 1000 + 400 =1400. 
 400 ,

. .
1400 + 400=1800, 

.  4 :
.......1000,

1- .........1400,
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2- ........ 1800, 
3- ........ 2200, 
4- ........ 2600. 

.
40% , , . .

1000 +1000 • 2/5 =1400 .
,

,  40% , :
1400 + 1400 • 2/5 = 1400 + 560 = 1960 .

:
40% :

1960+ 1960 • 2/5 = 1960 + 784 = 2744 .
:

2744 + 2744 • 2/5 = 2744 + 1098 = 3842. 
:

.......1000,
1- ..........1400,
2- ......... 1960, 
3- ......... 2744, 
4- ......... 3842. 

,  7/5, 
 140% ,

140%= 140/100 = 7/5 . 
 4 -

. , ,
 A. 

,  400 . -
, . .  k = 

7/5 . 
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